Palmako

LEMEXS GROUP

Assembly, installation and maintenance manual

Montage-, Aufbau- und Wartungsanleitung e Assemblage, manuel de montage et d’entretien ® Montaje, instalacion
y mantenimiento e Manuale di montaggio, installazione e manutenzione e Monterings- og vedlikeholdsmanual e
Monterings-, installations- och underhallsmanual e Kokoamis-, asennus- ja huolto-ohje e Vejledning for montering
og vedligehold e Handleiding voor montage, installatie en onderhoud e Manual de montagem, instalagéo e
manutencdo e Navod k montazi, instalaci a udrzbé e Instrukcja montazu, instalacji i konserwacji ® Surinkimo,
montavimo ir priezidros vadovas e Montazas, uzstadiSanas un apkopes rokasgramata e PykoBoactso no c6opke
n obcnyxumBaHuio e Montaazi-, paigaldus- ja sailitamise juhend

Pavilion PA34-3636

Treatment options, Iltem code

NO 103724
BNDIP 103725
GYDIP 103727
WTDIP 103726

eBehandlungsoptionen, Artikel-Code e Traitement options, code de
I'article @ Opciones de tratamiento, cédigo del articulo e Opzioni di
trattamento, codice articolo e Behandlingsalternativer, artikkelnummer
e Behandlingsalternativ, varukod e Kasittelyvaihtoehdot, yksikon koodi
e Behandlingsmuligheder, artikel nummer e Behandelingsopties,
artikelnummer e Opgdes de tratamento, cédigo do artigo e Povrchové
upravy, kéd polozky e Mozliwosci leczenia, kod produktu e Apdorojimo
variantai, prekés kodas e Apstrades iespéjas, artikula kods e BapuaHTbl
o6paboTku, kog nsgenus e Todtlusvdimalused, tootekood

Factory inspection by e Werkskontrolle durch e
Contrble a partir de l'usine par e Inspector de fabrica e
Collaudato da e Fabrikkkontroll utfert av e
Fabriksbesiktigat av e Tehtaan tarkastaja e Fabriks
Kontrol udfgrt af e Fabriekscontrole door e Inspecéo de
fabrica, por: e Zkontrolovano ve vyrobnim zavodé e
Kontrola fabryczna do e ApziGrg gamykloje atliko e
Rdpnicas parbaudi veicis e 3aBoackon KOHTPOmnb ©
Tehase kontroll teostatud:

Date e Datum e Date e Fecha e Data e Dato e Datum e
Paivays e Dato e Datum e Data e Datum e Data e Datums
e Data e [lata e Kuupaev:

Pack number e Pack Nr. e Packet n° e Bulto N° e Pacco N.
e Serienr e Produktionsnummer e Pakettinro e Pakke nr. e
Pak nr. ¢ Nimero de embalagem e Cislo baleni ¢ Numer
opakowania e Pakuotés numeris e lepakojuma numurs e
YnakoBOYHbIN HOmep e Pakinumber:

Palmako AS | Néituse 25 | 50409 Tartu | Estonia | Ph: +372 7 355 530 | Fax: +372 7 355 544 | contact@palmako.ee | www.palmako.ee




Pos SPECIFICATION-STUCKLISTE-NOMENCLATURE-ELEMENTI-ESPECIFICATION Pes Profile |Lengfh
PA34-3636 (mm| (mm)
1950
001 | — 3| 36x55 | 1950
350
002 EZ 17 34x114 350
350
003 ] 17| 36x114 350
p 1950 )
004 E :Z 68 | 34xT4 | 1950
1950
005 | | “ Without tonque 3| 34x14 | 1950
[ o] )
p 1950 ;
006 Ef:\ ﬁj 2 34Lx114 | 1950
470
007 iﬁ 22 | 34x114 470
470
008 ] 22 | 3bx114 470
p 1950 )
009 [ 2] 2 | 3bx14& [ 1950
1950
010 WQ @ 3 34x55 1950
Foundation- Fundament- Fondation- Fondazione- Vigas de cimentacion 2x60°
AR / \ 6 | 45x70 T4 L
Foundation- Fundament- Fondation- Fondazione- Vigas de cimentacion 2x60°
AR? , \ 2 | L45x70 2345
Foundation- Fundament- Fondation- Fondazione- Vigas de cimentacion 2x60°
AR3 / \ 2 | 45x70 3026
Floor board- Fussbodenbrett- Madrier du plancher - _ _
060 | ===
Tavola pavimento- Tabla de suelo
061 \ | 2x90° 191 19x89 2951
062 2x30° 2 19x89 2951
063 2x30° 2 19x89 2641
064 2x30° 2 19x89 2331
065 2x30° 2 19x89 2021
066 2x30° 2| 19x89 1711
067 2x30° 2 19x89 1601
068 2x30° 2 19x89 1091
069 2x30° 2 19x89 781
0610 ~ 2x30° 2| 19x89 | 471
0611 ~ 2x30° 2 | 19xk6 | 161




Pos SPECIFICATION-STUCKLISTE-NOMENCLATURE -ELEMENTI-ESPECIFICATION Pes Profile |Lengfh
PA34-3636 (mm) (mm)
Joining detail- Verbindungsteil- Detail de connection-
150 3 8x16 1200
Deftaglio di collegamento- Detalle de juntura
100 6 19x95 2243
151 6 | 4Lx120 | 1849
Floor beading- Fussbodenleiste- Baguette du i
130 ‘ ‘ o, = 6 19%19 1800
plancher- Listello pavimenfo- Liston de suelo
"0 Storm brace- Sturmleiste- Profection confre le‘ﬂ _ 6 PEgLC 2970
vent- Antivento- Protector confra tormentas
Fixing kit - Befestigungssef- Moyens de fixation-
Materiale di fissaggio- Kif de fijacion
- Cylinder- Zylinderschloss- Serrure a mortaiser- ﬁfﬁ :
Serratura a cilindro- Bombin 30.40
- Door fitfings- Turbeschlag- Ferrure- Ferramenta porfa- :
Manilla puerfa- QULLink jakate
F3 Window fitfings- Fenstergriff- Poigne de (3 L
fenetre- Maniglia finestra- Manilla (ventanal
Fh Screw- Schraube- Vis- Vite- Tornillo- 2.5x16mm _ b
F5 Screw- Schraube- Vis- Vite- Tornillo- 3x20mm _— 48
Fé Screw- Schraube- Vis- Vite- Tornillo- 3x20mm _ L
F7 Screw- Schraube- Vis- Vife- Tornillo- 4.5x50mm P 34
F8 Screw- Schraube- Vis- Vite- Tornillo- &.5%70mm p— 8
F9 Screw- Schraube- Vis- Vite- Tornillo- 5x90mm P 96
F10 Screw- Schraube- Vis- Vite- Tornillo- 6x120mm P—— 37
F11 Nail- Nagel- Clou- Chiodo- Clavo- 1.Lx40mm —_— 30
F12 Nail- Nagel- Clou- Chiodo- (lavo- 2.5x50mm —_— 300
F13 Window stop- Fensferfeststelle- Cremaillere- #- _ _ L
Fissativo finestra- Fijador de ventana- QAF2407Zn
Roof cap- Dachkappe- Finition métallique-
Flk 1
Finitura di feffo- Caballefe de fejado &
F1e Nuf- Schraubenmutter- Ecrou- Dado- Tuerca- o ”
M8mm
. Bolt -Schloss-schraube -Boulan- Bullone- Perno- 1 1
MBx80mm
E17 Washer- Dichtscheibe- Joinf- Rondella- Arandela- © 1
8x22mm
£18 Keeper- Schliessblech- Tole- Lamiera- Aldaba de )
candado
Hook- Haken- Crochet- Ganzio- Pestillo
F19 9

QHaak150mmZn




SPECIFICATION-STUCKLISTE-NOMENCLATURE -ELEMENTI-ESPECIFICATION Profile |Lengfh
Pos Pcs
PA3L-3636 (mm) (mm)
EL-1 | Roof elemenf- Dachelemenf- Panneau de foif- Elemento di tefto- Elemento fejado 6 | 61x1106 | 2233
EL-2 | Roof elemenf- Dachelemenf- Panneau de foif- Elemento di feffo- Elemento fejado 6 | 61x1106 [ 2733
Door - Tur - Porte - Porta-Puerta 1244x1936 1
E | B B
= || ™7 1MLLx186Tmm
TU3L SN S | g S S
-27pP
| —F EEL: B
f B
Window - Fenster - Fenefre - Finestra-Ventana 1003x1336 2
TR 903x1236mm
TA3L SN S| |1
-17P
Sla8-1 | Slat- Leiste- Baguette- Listello- Listan 1 19x35 1250




ARI - 6 pcs
AR2 -2 pcs
AR3 -2 pcs
F10 - 14x



AutoCAD SHX Text
1..

AutoCAD SHX Text
2.

AutoCAD SHX Text
NB!


001 - 3 pcs
F8 - 6 pcs

001/41mm ‘AR

Smm A*ARI

41 mm

001

5 mm
34 mm |



AutoCAD SHX Text
1..

AutoCAD SHX Text
2.

AutoCAD SHX Text
NB!


002 - 1 pcs
003 - 1 pcs
004 - 5 pcs
F8 -2 pcs




061- 19 pcs
062...0611 -a"2 pcs
F12 - 200 pcs

IIIIIIIIIIIIIIIIIIIIIIII

IIIIIIIIIIIIIIIIIIIIIIII

IIIIIIIIIIIIIIIIIIIIIIII

IIIIIIIIIIIIIIIIIIIIIIII




130 - 6 pcs

Sla8-1 - 1 pcs

F7 -4 pcs

F11 - 30 pcs




002 - 4 pcs
003 - 4 pcs
004 - 20 pcs




002 - 1 pcs

003 - 1 pcs

004 - 3 pcs
006 - 2 pcs




TU34-27P - 1 pcs
F9 - 4 pcs

F2 -1 pcs

F1 -1 pcs

F18 -2 pcs

F4 - 4 pcs | |

NN
NN
N
N

N

TU34-27P “‘




— I I Y R I N |

T
/

I

007 - 2 pcs
008 - 2 pcs

004 - 1 pcs




004 -
007 -

008

003

12 pcs
8 pcs

- 8 pcs
002 -
- 4 pcs

4 pcs

= II
//
/

008
002

11

/L// /// L] Z/

Z//// T

003 = Q_
II
——

10




TA34-17P - 2 pcs
F9 - 8 pcs

F13 -2 pcs

F3 -2 pcs
F5-32 pcs

TA34-17P

TA34-17P

[ I I I I [ [ I [ I |

11




004 - 18 pcs
007 - 12 pcs
008 - 12 pcs
002 - 6 pcs
003 - 6 pcs

» O~ 004

|
/J
.y
C T [T T T 7T 7T 7 [T 71177

12




004 - 3 pcs
009 - 2 pcs
002 - 1 pcs
003 - 1 pcs

004

004

002 [ LFS

I ~

[~ ]
II ™

I >
I~ 5

II b

| ~~4

T~ TS

II —_— \II

IIIIIIIIIIIIIIIII:’

=
98]

00
e —

13




004 - 6 pcs

004

004

IIIIIIIIIIIIIIIIIIJ‘“‘“

14




005 - 3 pcs
010 - 3 pcs

010

005

(1 I I [ I [ [ I [ I [ I [ I [ I

010

/’ v
I
|
— 1
| b
[}
v
|1
———
= I
||
d T —y
——
L
— — A —
L——
f
g —
I

15




151 - 6 pcs
F10 - 18 pcs

151

151

151

—— ]
L
d L —H c———F—
—
L
= —— ]
—]

(1 I I [ I [ [ I [ I [ I [ I [ I

16

F10]




EL-1 -1 pcs
EL-2 -1 pcs
F9 -9 pcs

(I I I [ I [ I I [ I I I [I I [I]

Not included!
H=ca32m

/’ v
I
|
— 1
| b
[}
v
|1
———
= I
||
d T —y
——
L
— — A —
L——
f
g —
I

17

F9
5x

151




EL-1 -1 pcs
EL-2 -1 pcs
F9 - 14 pcs

(I I I [ I [ I I [ I I I I I [

1
T
| —
_—— "
1 p
[
{—
— — — 3
—
Al—
¢— — — 3
—
A —
—] |
—]
i
[ —
——il—

13

F9
5x

151

F10
3x




EL-1 -1 pcs
EL-2 -1 pcs
F9 - 14 pcs

(I I I [ I [ I I [ I I I I I [

1
T
| —
_—— "
1 p
[
{—
— — — 3
—
Al—
¢— — — 3
—
A —
—] |
—]
i
[ —
——il—

19

F9
5x

151

F10
3x




EL-1 -1 pcs
EL-2 -1 pcs
F9 - 14 pcs

20

/’ /
_ ]
~ e | | o |
ey H
~ h
|| = ——n ’
e
B L=
==
B | —>—
I~ ——] =1 |
e~ !
e~ H — — —
il — 1
o
L
o
o
e~

151

F9 U
5x 3x




EL-1 -1 pcs
EL-2 -1 pcs
F9 - 14 pcs

(I I I [ I [ I I [ I I I I I [

1
T
| —
_—— "
1 p
[
{—
— — — 3
—
Al—
¢— — — 3
—
A —
—] |
—]
i
[ —
——il—

21

F9
5x

151

3x




EL-1 -1 pcs
EL-2 -1 pcs
F9 - 19 pcs

22

i
1
1
|
1

151

FI0
3x




140 - 6 pcs

F15-12 pcs
F16 - 12 pcs
F17-12 pcs
F19 - 2 pcs

23

140

140

140

140

140

140

F15+

F16+™

F17

140

F15+
F16+™

F17

_/

[ &/ s

////‘//
=",




Q

!

g r r r r rr 1 71 1 71 1 T I T 1
L

7
[

===

100
F7
DX |

Ll
Ty | 11
So- & L -
PN ARRARRARN
— e

L I 1 I I T I T I 1
[




	T00543 Spets1 2021.11.25 Mälton.pdf
	Sheets and Views
	Model


	T00543 Spets2 2021.11.25 Mälton.pdf
	Sheets and Views
	Model


	T00543 Spets3 2021.11.25 Mälton.pdf
	Sheets and Views
	Model


	T00543 Juhend1 2020.06.30 Ader.pdf
	Sheets and Views
	Model


	T00543 Juhend2 2020.06.30 Ader.pdf
	Sheets and Views
	Model


	T00543 Juhend3 2020.06.30 Ader.pdf
	Sheets and Views
	Model


	T00543 Juhend4 2020.06.30 Ader.pdf
	Sheets and Views
	Model


	T00543 Juhend5 2020.06.30 Ader.pdf
	Sheets and Views
	Model


	T00543 Juhend6 2020.06.30 Ader.pdf
	Sheets and Views
	Model


	T00543 Juhend7 2020.06.30 Ader.pdf
	Sheets and Views
	Model


	T00543 Juhend8 2021.11.25 Mälton.pdf
	Sheets and Views
	Model


	T00543 Juhend9 2021.11.25 Mälton.pdf
	Sheets and Views
	Model


	T00543 Juhend10 2021.11.25 Mälton.pdf
	Sheets and Views
	Model


	T00543 Juhend11 2021.11.25 Mälton.pdf
	Sheets and Views
	Model


	T00543 Juhend12 2021.11.25 Mälton.pdf
	Sheets and Views
	Model


	T00543 Juhend13 2021.11.25 Mälton.pdf
	Sheets and Views
	Model


	T00543 Juhend14 2021.11.25 Mälton.pdf
	Sheets and Views
	Model


	T00543 Juhend15 2021.11.25 Mälton.pdf
	Sheets and Views
	Model


	T00543 Juhend16 2021.11.25 Mälton.pdf
	Sheets and Views
	Model


	T00543 Juhend17 2021.11.25 Mälton.pdf
	Sheets and Views
	Model


	T00543 Juhend18 2021.11.25 Mälton.pdf
	Sheets and Views
	Model


	T00543 Juhend19 2021.11.25 Mälton.pdf
	Sheets and Views
	Model


	T00543 Juhend20 2021.11.25 Mälton.pdf
	Sheets and Views
	Model


	T00543 Juhend21 2021.11.25 Mälton.pdf
	Sheets and Views
	Model


	T00543 Juhend22 2021.11.25 Mälton.pdf
	Sheets and Views
	Model


	T00543 Juhend23 2021.11.25 Mälton.pdf
	Sheets and Views
	Model


	T00543 Juhend24 2021.11.25 Mälton.pdf
	Sheets and Views
	Model



